

Page 1 of 7

Contract ID: 18463 Counties: STATEWIDE

Letting Date: January 10, 2019 **District(s):** H4

Call Order: 463 Project(s): STP-D00S(190)

	o / Item ID escription		(1) MOUNT CO CO.,		(2) NATIONAL CLEANING			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY ITE	MS	Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	1.00000	1.00	25,000.00000	25,000.00		
PERFOR PAYMEN	MANCE BOND AND T BOND	DOLL						
0005	158006M	500.000	0.01000	5.00	5.00000	2,500.00		
SILT FEN	ICE	LF						
0006	158015M	500.000	0.01000	5.00	1.00000	500.00		
HAYBALI	Ξ	U						
0007	158045M	500.000	0.01000	5.00	3.00000	1,500.00		
FLOATIN TYPE 2	G TURBIDITY BARR	RIER, LF						
8000	158066M	300.000	0.01000	3.00	5.00000	1,500.00		
ABSORB	ENT BOOM	LF						



Page 2 of 7

Contract ID: 18463 Counties: STATEWIDE

Letting Date: January 10, 2019 **District(s):** H4

Call Order: 463 Project(s): STP-D00S(190)

Line No / Item ID Item Description		(1) MOUNT CO CO.,		(2) NATIONAL CLEANING				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	ROADWAY ITE	EMS	Cat Al	t Set:	Cat A	It Member:	
0009	159003M	39.000	0.01000	0.39	200.00000	7,800.00		
BREAKA	WAY BARRICADE	U						
0010	159006M	300.000	0.01000	3.00	0.01000	3.00		
DRUM		U						
0011	159009M	450.000	0.01000	4.50	10.00000	4,500.00		
TRAFFIC	CONE	U						
0012	159012M	600.000	1.00000	600.00	10.00000	6,000.00		
CONSTR	RUCTION SIGNS	SF						
0013	MMR060M	180.000	30.00000	5,400.00	200.00000	36,000.00		
FLASHIN	NG ARROW BOARD, 4	' X 8' DAY						



Page 3 of 7

Contract ID: 18463 Counties: STATEWIDE

Letting Date: January 10, 2019 District(s): H4

Call Order: 463 Project(s): STP-D00S(190)

Line No / Item ID Item Description		(1) MOUNT COI CO., I		(2) NATIONAL CLEANING				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	ROADWAY ITE	MS	Cat Alt	Set:	Cat A	It Member:	
0014	MMG008M	600.000	42.00000	25,200.00	2,500.00000	1,500,000.00		
MOUNT	C CONTROL TRUCK \ ED CRASH CUSHION NG ARROW BOARD, 4	AND						
0015	159141M	300.000	84.00000	25,200.00	225.00000	67,500.00		
TRAFFIC	DIRECTOR, FLAGG	ER HOUR						
0016	202009P	5,400.000	11.00000	59,400.00	30.00000	162,000.00		
EXCAVA	TION, UNCLASSIFIE	D CY						
0017	MMB173M	150,000.000	1.00000	150,000.00	1.00000	150,000.00		
SOLID W	VASTE DISPOSAL	DOLL						
0018	202024M	1,175.000	100.00000	117,500.00	1.00000	1,175.00		
DISPOSA MATERIA	AL OF REGULATED AL	Т						



Page 4 of 7

Contract ID: 18463 Counties: STATEWIDE

Letting Date: January 10, 2019 District(s): H4

Call Order: 463 Project(s): STP-D00S(190)

	o / Item ID escription		(1) MOUNT COI CO., I		(2) NATIONAL CLEANING			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY ITE	MS	Cat Alt	t Set:	Cat A	It Member:	
0019	601664M	410,000.000	5.85000	2,398,500.00	3.50000	1,435,000.00		
VIDEO II	NSPECTION OF PIPE	LF						
0020	601670M	410,000.000	2.98000	1,221,800.00	1.30000	533,000.00		
CLEANIN 24" DIAM	NG EXISTING PIPE, 12 METER	2" TO LF						
0021	601672M	240,000.000	0.01000	2,400.00	0.50000	120,000.00		
	NG EXISTING PIPE, O 8" DIAMETER	VER LF						
0022	601674M	60,000.000	0.01000	600.00	0.25000	15,000.00		
	NG EXISTING PIPE, O 2" DIAMETER	VER LF						
0023	601676M	24,000.000	0.01000	240.00	0.10000	2,400.00		
	NG EXISTING PIPE, O 6" DIAMETER	VER LF						



Page 5 of 7

Contract ID: 18463 Counties: STATEWIDE

Letting Date: January 10, 2019 **District(s):** H4

Call Order: 463 Project(s): STP-D00S(190)

Contract Time: 08/31/20 COMPLETION DATE Min: Max:

Contract Description: DRAINAGE RESTORATION CONTRACT, STATEWIDE-2018

Line No / Item ID Item Description		(1) MOUNT COI CO., I		(2) NATIONAL CLEANING				
Alt Set / Alt	Member Qua	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: (0001	ROADWAY ITE	MS	Cat Alt	t Set:	Cat A	It Member:	
0024 MM	D014M	3,000.000	1.00000	3,000.00	225.00000	675,000.00		
CLEANING EX STRUCTURE	ISTING DRAINAGE	LF						
0025 MM	D015M	1,100.000	0.01000	11.00	70.00000	77,000.00		
CLEANING OF	BOX CULVERTS	CY						

Section Totals: \$4,009,877.89 \$4,823,378.00



Page 6 of 7

Contract ID: 18463 Counties: STATEWIDE

Letting Date: January 10, 2019 District(s): H4

Call Order: 463 Project(s): STP-D00S(190)

Contract Time: 08/31/20 COMPLETION DATE Min: Max:

Contract Description: DRAINAGE RESTORATION CONTRACT, STATEWIDE-2018

	Line No / Item ID Item Description		• •	ONSTRUCTION , INC.	, , ,	WATER MAIN GOMPANY		
ı	Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0002 CONSTRUCTION ENGINEERING Cat Alt Set: Cat Alt Member: ITEMS

0003 155006M FIELD OFFICE TYPE B SET UP	1.000 U	6,000.00000	6,000.00	5,000.00000	5,000.00
0004 155024M	15.000	1,200.00000	18,000.00	5.00000	75.00
FIELD OFFICE TYPE B MAINTENANCE	МО				

Section Totals: \$24,000.00 \$5,075.00



Page 7 of 7

Contract ID: 18463 Counties: STATEWIDE

Letting Date: January 10, 2019 District(s): H4

Call Order: 463 Project(s): STP-D00S(190)

Contract Time: 08/31/20 COMPLETION DATE Min: Max:

Contract Description: DRAINAGE RESTORATION CONTRACT, STATEWIDE-2018

Line No / Item ID Item Description					(2) NATIONAL WATER MAIN CLEANING COMPANY		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 NON-PARTICI		PATING ITEMS	Cat Alt	Set:	Cat A	It Member:	
0002 152004P	1.000	1.00000	1.00	4,000.00000	4,000.00		
OWNER'S AND CONTRACTOR'S DOLL PROTECTIVE LIABILITY INSURANCE							
Section Totals:			\$1.00		\$4,000.00		
Contract Totals			\$4,033,878.89		\$4,832,453.00		
Cost Plus Time Totals			\$4,033,878.89		\$4,832,453.00		

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 463 Contract ID: 18463 Counties: STATEWIDE

Letting Date: January 10, 2019 10:00 AM District(s): H4

Contract Time: 08/31/20 COMPLETION DATE

Contract Description: DRAINAGE RESTORATION CONTRACT, STATEWIDE-2018 Project(s): STP-D00S(190)

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	M6816	MOUNT CONSTRUCTION CO., INC.	\$4,033,878.89	100.00%
2	N0817	NATIONAL WATER MAIN CLEANING COMPANY	\$4,832,453.00	119.80%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,